
parts list
Material/StandardTitleNo.Pos.

S235JR+C Fl 50x12x182lower shear plate11
S235JR+C Fl 80x10x162upper shear plate12
S235JR+C Fl 30x8x62spacer13
C45U Fl 25x6x112lower shear14
C45U FL 35x6x140upper shear15
11SMnPb30 Rd 8x30bolt26
11SMnPb30 Rd 45 joint tap27
S235JR+C Fl 50x6x78lever tap18
S235JR+C Fl 20x20x62shear pedestral29
S235JR+C Fl 20x6x210lever110
11SMnPb30 Rd 16fit bolt111
11SMnPb30 Rd 22joint screw112
11SMnPb30 Rd 16x45clamp screw113
11SMnPb30 Rd 6x78guiding114
S235JR+C Fl 8x6x62downholder115
ISO 4762 - M6 x 10Hexagon Socket Head Cap Screw316
ISO 4762 - M6 x 20Hexagon Socket Head Cap Screw317
ISO 8734 - 5 x 24 - AParallel pin218
ISO 4032 - M10Hexagon nut, style 1 - Product grades A and B119
DIN 1587 - M10 - SW16Hexagon Domed Cap Nut120
DIN 1587 - M6Hexagon Domed Cap Nut421
ISO 4032 - M8Hexagon nut, style 1 - Product grades A and B122
SMS 208 - M4 x 14Wing Screw123
ISO 8734 - 4 x 10 - AParallel pin124
ISO 4762 - M5 x 8Hexagon Socket Head Cap Screw125
DIN 1587 - M5Hexagon Domed Cap Nut126
DIN 7984 - M6 x 10Cylinder Head Cap Screw227
ISO 7090 - 10 - 140 HVPlain washer, charmfered - Normal series - 

Product grade A
228

ISO 7090 - 12 - 140 HVPlain washer, charmfered - Normal series - 
Product grade A

129

Status Änderungen Datum Name

Datum Name
Erstellt:
Genehm.:

Maßstab:
Werkstoff:Allgemein-

toleranzen
DIN ISO

2768 mK

 Ober-
flächen
DIN ISO
1302

Autodesk Inventor
KONSTRUKTION 1 

A4

Masse:

Tolerierung
ISO 8015
Kanten

ISO 13715

Dokumentenart:  

parts list.idw

Sachnr.:  

N.N.

Halbzeug: 

Technische Kommunikation

parts list - lever shear


